Contract 25-07 - West 15th	Avenue Reconstru	action (#9359431)						
Owner: Oshkosh WI, City		, , , , , ,						
Solicitor: Oshkosh WI, Cit								
	1							
Bid Opening: 11/04/2024 1	1:00 AM CST							
	1							
					Carl Bowers & Sons	s Const. Co., Inc.	PTS Contra	ctors. Inc
					N1844 Malo	· ·	110 Contra	etors, me
					Kaukauna, V	•		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1	nem coue	item Description	COIN	Quantity	CHILITIEC	\$5,009,935.27	Omerace	\$5,039,000.00
Section 1		Clearing; complete as				ψ5,007,753.27		ψ5,057,000.00
	1011	specified	Inch Diameter	340.00	\$20.00	\$6,800.00	\$20.00	\$6,800.00
	1011	Grubbing; complete as	men Diameter	340.00	\$20.00	φο,ουσ.υσ	\$20.00	\$0,000.00
	1021	specified	Inch Diameter	368.00	\$20.00	\$7,360.00	\$10.00	\$3,680.00
	1021	Mobilization; complete as	men Diameter	566.66	φ20.00	ψ1,000.00	φ10.00	φο,000.00
	1050	specified	Lump Sum	1.00	\$150,000.00	\$150,000.00	\$342,957.32	\$342,957.32
	1030	Removing pavement;	Eurip Juni	1.00	ψ100,000.00	ψ130,000.00	ψ042,707.32	ψ342,757.52
	1100	complete as specified	Square Yards	1,540.00	\$5.00	\$7,700.00	\$1.00	\$1,540.00
	1100	Removing curb and	oquare rurus	1,0 10.00	ψ0.00	<i>\$7,7.00.00</i>	Ψ1.00	\$1,010.00
		gutter; complete as						
	1110	specified	Linear Feet	4,975.00	\$3.00	\$14,925.00	\$1.00	\$4,975.00
	1110	Removing concrete and	Efficial Feet	2,570.00	ψ0.00	\$11/20100	Ψ1.00	\$ 1/37 0.00
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	44,475.00	\$0.70	\$31,132.50	\$0.70	\$31,132.50
	1120	Unclassified excavation;	oquare reer	11/1/0.00	ψο σ	\$61/10 2 .00	ψο σ	ψ01/102.00
	1200	complete as specified	Cubic Yards	4,985.00	\$18.00	\$89,730.00	\$18.30	\$91,225.50
		Excavation special		,	,	, ,	,	, , , , , , , , , , , , , , , , , , , ,
		(paving); complete as						
	1220	specified	Tons	748.00	\$0.01	\$7.48	\$0.01	\$7.48
		7" concrete pavement;			·	·	·	·
		with 5" CABC and						
		grading; complete as						
	1301	specified	Square Yards	9,500.00	\$53.00	\$503,500.00	\$53.35	\$506,825.00
		7" concrete pavement	•			·		•
		HES; with 5" CABC and						
		grading; complete as						
	1303	specified	Square Yards	1,245.00	\$57.00	\$70,965.00	\$57.40	\$71,463.00
		Concrete pavement gaps;						
	1334	complete as specified	Each	2.00	\$1,000.00	\$2,000.00	\$1,018.00	\$2,036.00
		Crushed aggregate base						
		course; complete as						
	1340	specified	Tons	1,495.00	\$14.00	\$20,930.00	\$10.20	\$15,249.00
		Pavement ties; complete						
	1350	as specified	Each	5.00	\$10.10	\$50.50	\$10.20	\$51.00
		Drilled dowel bars; 1";						
	1352	complete as specified	Each	106.00	\$15.15	\$1,605.90	\$15.30	\$1,621.80
		Drilled dowel bars; 1 1/4";						
	1354	complete as specified	Each	28.00	\$17.17	\$480.76	\$17.30	\$484.40

Contract 25-07 - West 15th A	venue Reconstri	iction (#9359431)						
Owner: Oshkosh WI, City of		(#3533451)						
Solicitor: Oshkosh WI, City								
Solicitor: Oslikosli Wi, City	01							
Bid Opening: 11/04/2024 11:	OO AM CST							
Bid Opening: 11/04/2024 11:0	OU AIVI CS I							
					C. I.D.	ar Court Co. Inc.	PTC CI	t Tu.
					Carl Bowers & Son	·	PTS Contr	actors, inc
					N1844 Mal	•		
C d Tid		* 5	*** ***	0 11	Kaukauna,		** !: D !	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Adjust manholes and						
	1240	inlets; complete as		60.00	#404.00	***	4.07.00	****
	1360	specified	Each	69.00	\$404.00	\$27,876.00	\$407.00	\$28,083.00
	1070	Turf restoration;	6 2/ 1	5 000 00	#10.00	#F0 000 00	ФТ 00	#46 500 00
	1370	complete as specified	Square Yards	5,990.00	\$10.00	\$59,900.00	\$7.80	\$46,722.00
		Restore gravel						
	1070	driveway/apron;	6 2/ 1	100.00	# 25 00	#2 72 5 00	#25.40	#2 T(0 (0
	1372	complete as specified Cold weather covering	Square Yards	109.00	\$25.00	\$2,725.00	\$25.40	\$2,768.60
		(concrete pavement) -						
		single visquine; complete						
	1380	as specified	Square Yards	1,608.00	\$0.01	\$16.08	\$0.01	\$16.08
	1360	Up-charge for late season	Square rarus	1,000.00	\$0.01	\$10.00	\$0.01	\$10.00
		cold weather concrete						
		pavement; complete as						
	1390	specified	Cubic Yards	312.00	\$0.01	\$3.12	\$0.01	\$3.12
	1370	12" radius curb with 6"	Cubic Tarus	312.00	ψ0.01	ψ5.12	φ0.01	ψ5.12
		CABC and grading;						
	1410	complete as specified	Linear Feet	440.00	\$15.15	\$6,666.00	\$15.30	\$6,732.00
	1110	30" curb and gutter; 7";	Effect Feet	110.00	Ψ10.10	φ0,000.00	Ψ10.50	φο,752.00
		with 5" CABC and						
		grading; complete as						
	1440	specified	Linear Feet	82.00	\$48.48	\$3,975.36	\$48.85	\$4,005.70
_		Sidewalk curb; complete			,	4-7-	,	1,,
	1460	as specified	Linear Feet	476.00	\$65.65	\$31,249.40	\$66.15	\$31,487.40
		4" concrete sidewalk with				. ,	·	<u> </u>
		3" CABC and grading;						
	1500	complete as specified	Square Feet	20,900.00	\$7.00	\$146,300.00	\$7.60	\$158,840.00
		6" concrete sidewalk/	•					
		driveway/ramp with 3"						
		CABC and grading;						
	1510	complete as specified	Square Feet	17,850.00	\$7.25	\$129,412.50	\$7.85	\$140,122.50
		6" concrete sidewalk/						
		driveway/ramp (HES)						
		with 3" CABC and						
		grading; complete as						
	1514	specified	Square Feet	2,975.00	\$7.50	\$22,312.50	\$8.10	\$24,097.50
		6" concrete step; complete						
	1530	as specified	Square Feet	1,308.00	\$75.75	\$99,081.00	\$76.30	\$99,800.40

Contract 25-07 - West 15th A	venue Reconstru	iction (#9359431)		T T				
Owner: Oshkosh WI, City o		("5005101)						
Solicitor: Oshkosh WI, City								
Solicitor: Oshkosh 111, City								
Bid Opening: 11/04/2024 11:	-00 AM CST							
Dia Opening. 11/01/2021 11.	100 71117 CO 1			+				
				+ +	Carl Bowers & So	ns Const Co. Inc	PTS Contr	actore Inc
					N1844 Mal	•	113 Colla	actors, file
				-	Kaukauna	•		
Section Title	Itam Cada	Item Description	UofM	Owantitu	Unit Price	Extension	Unit Price	Extension
Section Title	Item Code	Curb ramp detectable	COLIVI	Quantity	Chit i lice	Extension	Omt i nee	Extension
		warning field						
		-						
	1540	(natural/non-painted);	Carra Tarak	200.00	¢40.40	#11 212 00	¢40.70	#11 207 00
	1540	complete as specified No. 4 reinforcing rods -	Square Feet	280.00	\$40.40	\$11,312.00	\$40.70	\$11,396.00
		-						
	1550	deformed; epoxy-coated;	LinconFoot	7 (75 00	#2.02	#1F F02 F0	#2.00	¢1E 2E0 00
	1550	complete as specified Drilled No. 4 sidewalk tie	Linear Feet	7,675.00	\$2.02	\$15,503.50	\$2.00	\$15,350.00
		bars - deformed; epoxy-						
	15(0	coated; complete as	Е 1	405.00	#0.00	#2.010.00	40.15	40.050.55
	1560	specified Cold weather covering	Each	485.00	\$8.08	\$3,918.80	\$8.15	\$3,952.75
		(sidewalk) - single						
	1500	visquine; complete as	C E !	6 452 00	¢0.01	¢(4.50	#O 01	¢(4.50
	1580	specified Cold weather covering	Square Feet	6,452.00	\$0.01	\$64.52	\$0.01	\$64.52
		(sidewalk) - double						
		visquine; complete as						
	1582		Causano Essat	6,450.00	\$0.01	\$64.50	\$0.01	\$64.50
	1582	specified Up-charge for late season	Square Feet	6,450.00	\$0.01	\$64.50	\$0.01	\$64.50
		cold weather concrete						
	1500	sidewalk; complete as specified	Calda Vanda	2 070 00	¢0.01	#30 7 0	¢0.01	#20.70
	1590	Furnish and install tree;	Cubic Yards	2,870.00	\$0.01	\$28.70	\$0.01	\$28.70
	1600		Each	44.00	\$275.00	¢12 100 00	\$560.00	#24 C40 00
	1600	complete as specified Locate existing property	Eacn	44.00	\$275.00	\$12,100.00	φου.υυ	\$24,640.00
		monuments; complete as						
	1650	specified	Each	19.00	\$145.00	\$2,755.00	\$148.00	\$2,812.00
	1650	Replace existing property	Eacn	19.00	\$145.00	\$2,755.00	\$148.00	\$2,812.00
	1650	monuments; complete as	Eash	19.00	\$10.00	\$190.00	\$10.20	\$193.80
	1652	specified Sawing existing	Each	19.00	\$10.00	\$190.00	\$10.20	\$193.60
		pavement; complete as						
	1700	specified	Linear Feet	1,376.00	\$2.00	¢2.752.00	\$2.50	\$3,440.00
	1700	Sawing concrete	Linear reet	1,376.00	\$2.00	\$2,752.00	\$2.50	₱ ɔ ,440.00
		pavement full depth;						
	1710	•	Linos-Foot	172.00	\$2.50	¢420.00	\$2.50	¢420.00
	1710	complete as specified	Linear Feet	172.00	\$2.50	\$430.00	\$2.50	\$430.00
	1000	Tack coat; complete as	Callena	50.00	#0.00	¢10F F0	#O 40	¢1.41.40
	1900	specified	Gallons	59.00	\$2.30	\$135.70	\$2.40	\$141.60

Contract 25-07 - West 15th A	venue Reconstru	iction (#9359431)						
Owner: Oshkosh WI, City o		,						
Solicitor: Oshkosh WI, City								
Solicitor. Oshkosh Wi, City	1							
Bid Opening: 11/04/2024 11:	00 AM CST							
Did Opening. 11/04/2024 11.	OU MINI CO I							
					Carl Bowers & So	no Compt. Co. Inc.	PTS Contr	a atomo. Tra a
						· ·	115 Colli	actors, fric
					N1844 Mal			
C C TIN	Tr. C. 1	T. D. '.'	77 (3.6	0 "	Kaukauna		71 's D '	T
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		4" asphaltic transition LT with 10" CABC and						
		grading; complete as						
	1911	specified	Square Yards	655.00	\$55.00	\$36,025.00	\$45.50	\$29,802.50
		4" asphaltic surface LT						
		with 6" CABC and						
		grading; complete as			,	***		
	1916	specified	Square Yards	184.00	\$98.00	\$18,032.00	\$65.30	\$12,015.20
		Asphaltic cold weather						
		paving up-charge;						
	1918	complete as specified	Square Yards	126.00	\$0.01	\$1.26	\$1.40	\$176.40
		Furnish and install 12"						
		storm sewer; complete as						
	2003	specified	Linear Feet	430.00	\$94.00	\$40,420.00	\$90.50	\$38,915.00
		Furnish and install 15"						
		storm sewer; complete as						
	2006	specified	Linear Feet	25.00	\$99.00	\$2,475.00	\$104.00	\$2,600.00
		Furnish and install 18"						
		storm sewer; complete as						
	2009	specified	Linear Feet	150.00	\$105.00	\$15,750.00	\$102.00	\$15,300.00
		Furnish and install 21"						
		storm sewer; complete as						
	2012	specified	Linear Feet	50.00	\$132.00	\$6,600.00	\$119.00	\$5,950.00
		Furnish and install 24"						
		storm sewer; complete as						
	2015	specified	Linear Feet	40.00	\$140.00	\$5,600.00	\$135.00	\$5,400.00
		Furnish and install 30"						
		storm sewer; complete as						
	2021	specified	Linear Feet	275.00	\$185.00	\$50,875.00	\$136.00	\$37,400.00
		Furnish and install 36"						
		storm sewer; complete as						
	2024	specified	Linear Feet	425.00	\$206.00	\$87,550.00	\$164.00	\$69,700.00
		Furnish and install 48"						
		storm sewer; complete as						
	2030	specified	Linear Feet	275.00	\$275.00	\$75,625.00	\$228.00	\$62,700.00
		Furnish and install 54"		1				
		storm sewer; complete as						
	2033	specified	Linear Feet	1,000.00	\$355.00	\$355,000.00	\$319.00	\$319,000.00

Contract 25-07 - West 15th	Avenue Reconstru	action (#9359431)						
Owner: Oshkosh WI, City		, , , , ,						
Solicitor: Oshkosh WI, City								
	1							
Bid Opening: 11/04/2024 11	1:00 AM CST							
Dia opening. 11/01/2021 1	1							
					Carl Bowers & Son	ns Const. Co., Inc.	PTS Contra	ctors Inc
					N1844 Male	·	115 Contra	ctors, mc
					Kaukauna,			
C c' Tr'd	Tr. C. 1	T. D	11.04	0 "			71. 's D.'	T
Section Title	Item Code	Item Description Furnish and install 24" x	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		38" HERCP Class III						
		storm sewer; complete as				****		
	2049	specified	Linear Feet	30.00	\$215.00	\$6,450.00	\$223.00	\$6,690.00
		Furnish and install 38" x						
		60" HERCP Class III						
		storm sewer; complete as						
	2055	specified	Linear Feet	675.00	\$345.00	\$232,875.00	\$293.00	\$197,775.00
		Furnish and install						
		standard storm sewer						
		manhole (4' diameter);						
	2201	complete as specified	Vertical Feet	18.00	\$600.00	\$10,800.00	\$643.00	\$11,574.00
		Furnish and install						
		standard storm sewer						
		manhole (5' diameter);						
	2202	complete as specified	Vertical Feet	29.00	\$825.00	\$23,925.00	\$900.00	\$26,100.00
		Furnish and install						
		standard storm sewer						
		manhole (6' diameter);						
	2203	complete as specified	Vertical Feet	5.75	\$1,100.00	\$6,325.00	\$1,195.00	\$6,871.25
		Furnish and install						
		standard storm sewer						
		manhole (8' diameter);						
	2205	complete as specified	Vertical Feet	53.25	\$1,700.00	\$90,525.00	\$1,840.00	\$97,980.00
		Furnish and install						
		standard storm sewer						
		inlet manhole (4'						
		diameter); complete as						
	2213	specified	Vertical Feet	4.25	\$650.00	\$2,762.50	\$780.00	\$3,315.00
		Furnish and install Type 1						
		inlet (with 18" sump);						
	2235	complete as specified	Each	1.00	\$3,500.00	\$3,500.00	\$3,015.00	\$3,015.00
		Furnish and install Type 3						
		inlet (with 18" sump);						
	2237	complete as specified	Each	38.00	\$3,500.00	\$133,000.00	\$2,600.00	\$98,800.00
		Furnish and install 6"						
		storm sewer lateral;						
	2400	complete as specified	Linear Feet	2,600.00	\$74.00	\$192,400.00	\$60.00	\$156,000.00
		Furnish and install 8"						
		storm sewer lateral;						
	2402	complete as specified	Linear Feet	50.00	\$76.00	\$3,800.00	\$89.00	\$4,450.00

Contract 25-07 - West 15th	Avenue Reconstru	action (#9359431)						
Owner: Oshkosh WI, City		("3003101)						
Solicitor: Oshkosh WI, Cit								
John Common 111, Cit	y 01							
Bid Opening: 11/04/2024 1	1:00 AM CST							
Dia Opening. 11/01/2021 1	1.00 11.11 CO 1							
					Carl Bowers & Son	ne Conet Co. Inc	PTS Contr	actors Inc
					N1844 Mal		113 Colti	actors, fitc
					Kaukauna	•		
Section Title	Thom Code	Itam Dagarintian	UofM	Owantitu	Unit Price	Extension	Unit Price	Extension
Section Title	Item Code	Item Description Furnish and install storm	COIM	Quantity	Unit Frice	Extension	Unit Frice	Extension
		sewer marker balls;						
	2404		T. J.	160.00	#2F 00	#4 000 00	¢42.00	#4 72 0 00
	2404	complete as specified Furnish and install storm	Each	160.00	\$25.00	\$4,000.00	\$42.00	\$6,720.00
		sewer clay dams;						
	2406	1	T. J.	90.00	¢100.00	¢0,000,00	¢ος οο	#C 000 00
	2406	complete as specified Furnish and install storm	Each	80.00	\$100.00	\$8,000.00	\$86.00	\$6,880.00
		sewer lateral inlet;						
	2408		T. J.	75.00	¢1 200 00	¢00,000,00	¢050.00	Ф Т1 2 ГО ОС
	2406	complete as specified Storm lateral inlet	Each	75.00	\$1,200.00	\$90,000.00	\$950.00	\$71,250.00
	2414	adjustments; complete as specified	T. J.	75.00	¢100.00	¢7 F00 00	¢0.01	¢0.75
	2414	Furnish; install; maintain;	Each	75.00	\$100.00	\$7,500.00	\$0.01	\$0.75
		and remove Type D						
		modified inlet protection;						
	2500	_	T. J.	70.00	\$100.00	¢7,000,00	\$76.00	фE 220 00
	2508	complete as specified Sediment removal - Type	Each	70.00	\$100.00	\$7,000.00	\$70.00	\$5,320.00
		D modified inlet						
	2510	protection; complete as	T. J.	70.00	¢10.00	¢700.00	¢1.00	\$70.00
	2510	specified Furnish; install; maintain;	Each	70.00	\$10.00	\$700.00	\$1.00	\$70.00
		and remove stone						
	2512	tracking pad; complete as	T. J.	2.00	¢0.01	#0.0 2	¢0.01	¢ο ος
	2512	specified Furnish; install; maintain;	Each	2.00	\$0.01	\$0.02	\$0.01	\$0.02
		and remove stone bag;						
	2516	complete as specified	Each	60.00	\$10.00	\$600.00	\$10.00	\$600.00
	2310	Furnish; install; maintain;	EdCII	60.00	\$10.00	Φ000.00	\$10.00	\$000.00
		and remove 12" diameter						
		sediment logs; complete						
	2518	as specified	Linear Feet	100.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00
	2316	Furnish; install; maintain;	Linear reet	100.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00
		and remove dewatering						
		tank system; complete as						
	2524	specified	Each	2.00	\$0.01	\$0.02	\$0.01	\$0.02
	2024	Abandon 8" - 12" storm	Latt	2.00	φυ.υ1	ψ0.02	φ0.01	\$0.0.
		sewer; complete as						
	2800	specified	Linear Feet	375.00	\$15.00	\$5,625.00	\$5.20	\$1,950.0
	2000	Abandon 15" and larger	Lineal Feet	373.00	φ13.00	ψυ,020.00	ψ3.20	φ1,950.0
		storm sewer; complete as						
	2802	specified	Linear Feet	525.00	\$20.00	\$10,500.00	\$9.50	\$4,987.50
	2002	specificu	Linear reet	323.00	⊅∠0.00	\$10,300.00	Φ9.5U	Þ4,987.3

Contract 25-07 - West 15th A	venue Reconstri	action (#9359431)						
Owner: Oshkosh WI, City o		("5005101)						
Solicitor: Oshkosh WI, City								
Solicitor. Oshkosh vvi, City								
Bid Opening: 11/04/2024 11:	-00 AM CST							
Dia Opening. 11/01/202111.	100 71111 CO 1							
					Carl Bowers & Son	ne Conet Co. Inc	PTS Contra	actors Inc
					N1844 Male	·	113 Contra	ictors, mc
					Kaukauna,	•		
Section Title	Item Code	Item Description	UofM	Outsities	Unit Price	Extension	Unit Price	Extension
Section Title	Hem Code	Remove 30" and smaller	COLIVI	Quantity	Omt i nee	Extension	Ollit Trice	Extension
		storm sewer; complete as						
	2804	-	Linear Feet	500.00	\$25.00	\$12,500.00	\$28.70	¢14.250.00
	2004	specified Abandon storm sewer	Linear reet	300.00	\$25.00	\$12,500.00	\$20.70	\$14,350.00
		manholes and inlets;						
	2810		Each	15.00	\$400.00	\$6,000.00	\$289.00	\$4,335.00
	2010	complete as specified Remove storm sewer	Eacn	15.00	\$400.00	\$6,000.00	\$209.00	\$4,333.00
		manholes and inlets;						
	2812	complete as specified	Each	15.00	\$500.00	\$7,500.00	\$289.00	\$4,335.00
	2012	Connect to existing storm	Each	15.00	\$300.00	φ7,500.00	\$207.00	\$4,333.00
		sewer main; complete as						
	2850	specified	Each	10.00	\$1,200.00	\$12,000.00	\$2,550.00	\$25,500.00
	2830	Connect to existing storm	Lacri	10.00	\$1,200.00	\$12,000.00	\$2,330.00	φ23,300.00
		sewer lateral; complete as						
	2852	specified	Each	5.00	\$200.00	\$1,000.00	\$290.00	\$1,450.00
	2002	Connect to existing storm	Euch	5.00	Ψ200.00	ψ1,000.00	Ψ270.00	ψ1,100.00
		sewer manhole; complete						
	2856	as specified	Each	1.00	\$500.00	\$500.00	\$290.00	\$290.00
	2000	Connect to existing storm	Zueri	1.00	4000.00	φοσοισσ	\$2,0.00	Q270.00
		sewer inlet; complete as						
	2858	specified	Each	3.00	\$500.00	\$1,500.00	\$290.00	\$870.00
		Storm sewer utility line			,	, ,	,	,,,,,,,,
		opening (ULO); complete						
	2914	as specified	Each	5.00	\$600.00	\$3,000.00	\$0.01	\$0.05
		Excavation special			·	. ,	·	·
		(storm); complete as						
	2950	specified	Tons	150.00	\$15.00	\$2,250.00	\$0.01	\$1.50
		Furnish and install 8"				·		
		sanitary sewer (relay);						
	3000	complete as specified	Linear Feet	2,570.00	\$125.00	\$321,250.00	\$118.00	\$303,260.00
		Furnish and install 10"						
		sanitary sewer (relay);						
	3002	complete as specified	Linear Feet	40.00	\$230.00	\$9,200.00	\$182.00	\$7,280.00
		Furnish and install 12"						
		sanitary sewer (relay);						
	3004	complete as specified	Linear Feet	8.00	\$240.00	\$1,920.00	\$265.00	\$2,120.00
		Furnish and install 15"						
		sanitary sewer (relay);						
	3006	complete as specified	Linear Feet	15.00	\$250.00	\$3,750.00	\$760.00	\$11,400.00

Contract 25-07 - West 15th Av	enue Reconstru	iction (#9359431)						
Owner: Oshkosh WI, City of		, , , , , ,						
Solicitor: Oshkosh WI, City o				 				
	1			 				
Bid Opening: 11/04/2024 11:0	0 AM CST							
214 Opening, 11/01/20211110	1							
					Carl Bowers & So	ns Const Co. Inc	PTS Contra	actors Inc
	1				N1844 Mal	·	115 contr	actors, me
	+				Kaukauna	•		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Tiem coue	Furnish and install	001111	Quarterly	O.III. T.IICC	LATERISTON	Cant Trace	Extension
		standard sanitary sewer						
		manhole (4' diameter);						
	3100	complete as specified	Vertical Feet	95.00	\$550.00	\$52,250.00	\$318.00	\$30,210.00
	3100	Furnish and install	v er tiear r eet	75.00	ψ550.00	φ32,230.00	\$510.00	φ50,210.00
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	10.00	\$450.00	\$4,500.00	\$559.00	\$5,590.00
	3114	Furnish and install	Laci	10.00	ψ±00.00	φ±,300.00	\$557.00	ψ0,370.00
		sanitary sewer external						
		manhole chimney seal						
		extension; complete as						
	3116	specified	Each	2.00	\$425.00	\$850.00	\$508.00	\$1,016.00
	3110	Furnish and install 8" x 6"	Laci	2.00	ψ423.00	φ030.00	\$300.00	ψ1,010.00
		sanitary sewer factory						
		wyes or tees; complete as						
	3210	specified	Each	91.00	\$250.00	\$22,750.00	\$200.00	\$18,200.00
	3210	Furnish and install 6"	Laci	71.00	Ψ250.00	\$22,730.00	\$200.00	φ10,200.00
		sanitary sewer laterals						
		(new); complete as						
	3232	specified	Linear Feet	44.00	\$100.00	\$4,400.00	\$128.00	\$5,632.00
	0202	Furnish and install 4"/6"	Ellicar rect	11.00	Ψ100.00	\$1,100.00	Ψ120.00	φ0,002.00
		sanitary sewer lateral						
		(relay); complete as						
	3234	specified	Linear Feet	3,200.00	\$95.00	\$304,000.00	\$128.00	\$409,600.00
	3234	Furnish and install 4"/6"	Linear rect	3,200.00	ψ23.00	ψ30-1,000.00	\$120.00	ψ±02,000.00
		sanitary sewer riser						
		(relay); complete as						
	3235	specified	Linear Feet	100.00	\$100.00	\$10,000.00	\$102.00	\$10,200.00
	0200	Furnish and install	Zinear rect	100.00	Ψ100.00	Ψ10/000100	\$102.00	Ψ10/200.00
		sanitary sewer lateral						
	1	marker balls; complete as						
	3236	specified	Each	182.00	\$40.00	\$7,280.00	\$42.00	\$7,644.00
	1	Furnish and install clay			4-3100	4.7-20100	÷-2.00	4.7012100
	1	dams; complete as						
	3238	specified	Each	91.00	\$100.00	\$9,100.00	\$86.00	\$7,826.00
	1 200	Furnish and install		71.00	\$100.00	\$7,200.00	\$00.00	φ. /020.00
	1	connection to existing 8"						
		sanitary sewer mains;						
	3300	complete as specified	Each	1.00	\$1,500.00	\$1,500.00	\$1,800.00	\$1,800.00

Contract 25-07 - West 15th	Avenue Reconstru	action (#9359431)						
Owner: Oshkosh WI, City		, , , ,						
Solicitor: Oshkosh WI, City				+				
	1			+				
Bid Opening: 11/04/2024 11	1:00 AM CST							
gg-								
					Carl Bowers & Son	is Const. Co., Inc.	PTS Contra	ctors. Inc
					N1844 Male	·	115 Contra	etois, inc
					Kaukauna,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem code	Furnish and install	COIN	Quantity	Cint i iicc	Extension	OIII THEE	Extension
		connection to existing 10"						
		sanitary sewer mains;						
	3302	complete as specified	Each	1.00	\$2,000.00	\$2,000.00	\$1,885.00	\$1,885.00
	3302	Furnish and install	Lacii	1.00	Ψ2,000.00	Ψ2,000.00	\$1,000.00	ψ1,000.00
		connection to existing 12"						
		sanitary sewer mains;						
	3304	complete as specified	Each	1.00	\$2,300.00	\$2,300.00	\$1,775.00	\$1,775.00
	3304	Furnish and install	Lacii	1.00	Ψ2,300.00	Ψ2,300.00	\$1,773.00	ψ1,775.00
		connection to existing 15"						
		sanitary sewer mains;						
	3306	complete as specified	Each	2.00	\$2,800.00	\$5,600.00	\$1,800.00	\$3,600.00
	5500	Furnish and install	Lucii	2.00	Ψ2,000.00	φο,000.00	Ψ1,000.00	φο,σσσ.σσ
		sanitary sewer concrete						
		collars; complete as						
	3330	specified	Each	1.00	\$800.00	\$800.00	\$2,165.00	\$2,165.00
		Furnish and install 10"			400000	400000	42,200.00	4-/
		sanitary sewer open cut						
		casing pipes; complete as						
	3404	specified	Linear Feet	425.00	\$75.00	\$31,875.00	\$153.00	\$65,025.00
		Furnish and install 18"			,	1. /	,	, ,
		sanitary sewer open cut						
		casing pipes; complete as						
	3410	specified	Linear Feet	20.00	\$200.00	\$4,000.00	\$138.00	\$2,760.00
		Furnish and install 20"				·		· · · · · · · · · · · · · · · · · · ·
		sanitary sewer open cut						
		casing pipes; complete as						
	3411	specified	Linear Feet	12.00	\$250.00	\$3,000.00	\$158.00	\$1,896.00
		Rock excavation;						
	3600	complete as specified	Cubic Yards	100.00	\$0.01	\$1.00	\$0.01	\$1.00
		Closed circuit televising;						
	3700	complete as specified	Linear Feet	2,633.00	\$2.00	\$5,266.00	\$1.40	\$3,686.20
		Closed circuit televising -						
		using push camera;						
	3710	complete as specified	Each	4.00	\$400.00	\$1,600.00	\$142.00	\$568.00
		Abandon sanitary sewer						
		manholes; complete as						
	3800	specified	Each	2.00	\$800.00	\$1,600.00	\$578.00	\$1,156.00
<u> </u>		Abandon 20" sanitary						<u> </u>
		sewer; complete as						
	3811	specified	Linear Feet	328.00	\$16.00	\$5,248.00	\$13.00	\$4,264.00

Contract 25-07 - West 15th	Avenue Reconstru	action (#9359431)						
Owner: Oshkosh WI, City		("3003101)						
Solicitor: Oshkosh WI, City								
sometion continuon (11) en	1							
Bid Opening: 11/04/2024 11	1:00 AM CST							
514 Opening, 11/01/20211.								
					Carl Bowers & Son	ns Const. Co., Inc.	PTS Contra	ictors Inc
				-		· ·	113 Contra	ictors, nic
				-		N1844 Maloney Road Kaukauna, WI 54130 Jnit Price Extension \$23.00 \$10,833.00 \$800.00 \$1,600.00 \$60.00 \$12,660.00 \$600.00 \$2,400.00		
Section Title	Item Code	Item Description	UofM	Quantity	·		Unit Price	Extension
Section Title	Item Code	Abandon 18" x 26"	COLIVI	Qualitity	Chit i nee	Extension	Ollit Frice	Extension
		sanitary sewer; complete						
	3815	as specified	Linear Feet	471.00	¢22.00	¢10 922 00	\$15.00	\$7,065.00
	3613	Remove sanitary sewer	Linear reet	471.00	\$23.00	\$10,633.00	\$15.00	\$7,005.00
		manholes; complete as						
	3852	specified	Each	2.00	00 0082	\$1,600,00	\$390.00	\$780.00
	3632	Remove sanitary sewer;	Each	2.00	\$600.00	\$1,000.00	\$590.00	\$780.00
	3854	complete as specified	Linear Feet	211.00	\$60.00	\$12,660,00	\$37.00	\$7,807.00
	3034	Sanitary sewer utility line	Linear reet	211.00	\$00.00	\$12,000.00	ф37.00	φ7,007.00
		opening (ULO); complete						
	3890	as specified	Each	4.00	\$600.00	\$2,400,00	\$0.01	\$0.04
	3070	Excavation special	Laci	4.00	φου.υυ	Ψ2,±00.00	φ0.01	φο.ο-
		(sanitary); complete as						
	3892	specified	Tons	40.00	\$15.00	\$600.00	\$0.01	\$0.40
	5032	Furnish and install 6"	101.5	10.00	\$10.00	\$000.00	ψ0.01	40.1 0
		ductile iron water main						
		(relay) with polywrap;						
	4002	complete as specified	Linear Feet	230.00	\$125.00	\$28,750.00	\$144.00	\$33,120.00
		Furnish and install 8"			·	. ,	·	
		ductile iron water main						
		(relay) with polywrap;						
	4004	complete as specified	Linear Feet	2,690.00	\$129.00	\$347,010.00	\$121.00	\$325,490.00
		Furnish and install 12"						
		ductile iron water main						
		(relay) with polywrap;						
	4008	complete as specified	Linear Feet	155.00	\$180.00	\$27,900.00	\$224.00	\$34,720.00
		Furnish and install 1"						
		water service (relay);						
	4036	complete as specified	Linear Feet	2,900.00	\$92.00	\$266,800.00	\$90.00	\$261,000.00
		Furnish and install 1-1/4"						
		water service (relay);						
	4037	complete as specified	Linear Feet	30.00	\$95.00	\$2,850.00	\$135.00	\$4,050.00
		Furnish and install 1"						
		water service (new);						
	4042	complete as specified	Linear Feet	43.00	\$92.00	\$3,956.00	\$132.00	\$5,676.00
		Furnish and install 1"		Į T				
		corporation and stop box;						
	4048	complete as specified	Each	84.00	\$600.00	\$50,400.00	\$506.00	\$42,504.00
		Furnish and install 1-1/4"						
		corporation and stop box;						
	4050	complete as specified	Each	1.00	\$1,200.00	\$1,200.00	\$972.00	\$972.00

Contract 25-07 - West 15th A	Venue Reconstru	action (#9359431)						
Owner: Oshkosh WI, City o	_	(3003 101)						
Solicitor: Oshkosh WI, City								
Solicitor. Oshkosh vvi, City	01							
Bid Opening: 11/04/2024 11	OO AM CCT	+						
biu Opening: 11/04/2024 11	:00 AM CS I							
					6 1P 4 6	0 10 1	PUTC C	
					Carl Bowers & Son		PTS Contrac	ctors, Inc
					N1844 Malo	•		
					Kaukauna,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install water						
		service clay dams;						
	4055	complete as specified	Each	85.00	\$100.00	\$8,500.00	\$87.00	\$7,395.00
		Furnish and install						
		connections to existing 6"						
		water main; complete as						
	4058	specified	Each	4.00	\$2,000.00	\$8,000.00	\$2,036.00	\$8,144.00
		Furnish and install						
		connections to existing 8"						
		water main; complete as						
	4060	specified	Each	1.00	\$2,500.00	\$2,500.00	\$2,706.00	\$2,706.00
		Furnish and install						
		connections to existing						
		12" water main; complete						
	4064	as specified	Each	2.00	\$3,000.00	\$6,000.00	\$3,080.00	\$6,160.00
		Furnish and install 6" x 6"						
		water main tee; complete						
	4101	as specified	Each	1.00	\$65.00	\$65.00	\$560.00	\$560.00
		Furnish and install 8" x 6"						
		water main tee; complete						
	4110	as specified	Each	7.00	\$750.00	\$5,250.00	\$735.00	\$5,145.00
		Furnish and install 8" x 8"						•
		water main tee; complete						
	4111	as specified	Each	3.00	\$950.00	\$2,850.00	\$860.00	\$2,580.00
		Furnish and install 8" x			·	• /	·	· ,
		12" water main cross;						
	4191	complete as specified	Each	1.00	\$1,500.00	\$1,500.00	\$1,420.00	\$1,420.00
		Furnish and install 6" 45			, ,	, ,	, ,	, ,
		degree water main bend;						
	4236	complete as specified	Each	16.00	\$350.00	\$5,600.00	\$350.00	\$5,600.00
		Furnish and install 8" 45			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , , , , , , , , , , , , , , , , ,	,	1.7
	1	degree water main bend;						
	4237	complete as specified	Each	14.00	\$450.00	\$6,300.00	\$452.00	\$6,328.00
		Furnish and install 12" 45			4-2-3-00	4 0/2 0 0 100	4-1-100	4-,-20.00
	1	degree water main bend;						
	4239	complete as specified	Each	8.00	\$1,100.00	\$8,800.00	\$970.00	\$7,760.00
	1207	Furnish and install 8" x 6"	Zuci.	0.00	\$2,230.00	\$5,500.00	\$77.0.00	φ. γ. σο.σο
		water main reducer;						
	4264	complete as specified	Each	3.00	\$450.00	\$1,350.00	\$420.00	\$1,260.00
	4404	complete as specified	LaCH	3.00	φ 4 υυ.00	φ1,330.00	₽420.00	₽1,∠00.00

Contract 25-07 - West 15th A	Avenue Reconstru	action (#9359431)						
Owner: Oshkosh WI, City o		(11011 (11300) 101)						
Solicitor: Oshkosh WI, City								
Solicitor. Oshkosh 111, City	7 01							
Bid Opening: 11/04/2024 11	OO AM CCT							
bid Opening: 11/04/2024 11	1:00 AWI C51							
	_				C 1P 4.6	0 10 1	PETC C. 1	
					Carl Bowers & So	•	PTS Contra	actors, Inc
					N1844 Mal	•		
					Kaukauna			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Cut and cap existing 6"						
		water main; complete as						
	4352	specified	Each	2.00	\$800.00	\$1,600.00	\$1,900.00	\$3,800.00
		Cut and cap existing 8"						
		water main; complete as						
	4354	specified	Each	2.00	\$900.00	\$1,800.00	\$1,976.00	\$3,952.00
		Furnish and install 6"						
		water main gate valve;						
	4401	complete as specified	Each	10.00	\$2,100.00	\$21,000.00	\$1,914.00	\$19,140.00
		Furnish and install 8"						
		water main gate valve;						
	4402	complete as specified	Each	21.00	\$2,900.00	\$60,900.00	\$2,660.00	\$55,860.00
		Furnish and install 12"						
		water main gate valve;						
	4404	complete as specified	Each	2.00	\$5,000.00	\$10,000.00	\$4,685.00	\$9,370.00
		Furnish and install						
		hydrant; complete as						
	4500	specified	Each	7.00	\$6,000.00	\$42,000.00	\$5,626.00	\$39,382.00
		Furnish and install 2"					-	·
		water main casing pipe;						
	4712	complete as specified	Linear Feet	425.00	\$35.00	\$14,875.00	\$35.00	\$14,875.00
		Furnish and install 18"			·		·	
		water main casing pipe;						
	4726	complete as specified	Linear Feet	20.00	\$200.00	\$4,000.00	\$138.00	\$2,760.00
	1, 20	Rock excavation;	Zinear rect	20.00	Ψ200.00	Ψ 1/000.00	\$100.00	ψ2// 00.00
	4800	complete as specified	Cubic Yards	50.00	\$0.01	\$0.50	\$0.01	\$0.50
	1000	Abandon water main on	Cubic Turus	00.00	ψ0.01	φοισσ	φ0.01	φο.σο
		West 15th Avenue;						
	4900	complete as specified	Lump Sum	1.00	\$9,000.00	\$9,000.00	\$2,890.00	\$2,890.00
	1700	Remove water main;	Eurip Juni	1.00	ψ2,000.00	φ2,000.00	Ψ2,000.00	Ψ2,050.00
	4920	complete as specified	Linear Feet	260.00	\$25.00	\$6,500.00	\$39.00	\$10,140.00
	4720	Excavation special	Ellical I cct	200.00	\$23.00	\$0,300.00	ψ37.00	ψ10,140.00
		(water); complete as						
	4990	specified	Tons	50.00	\$15.00	\$750.00	\$0.01	\$0.50
	4990	Furnish and install pull	TOHS	50.00	\$10.00	\$750.00	⊅U.U1	\$0.50
		box (steel); 18" x 36";						
	F012		Ea-l-	17.00	#1 0/0 FO	#01 4C0 FO	#1 OFF 00	# 01 (FF 00
	5012	complete as specified	Each	17.00	\$1,262.50	\$21,462.50	\$1,275.00	\$21,675.00
	5005	Adjust pull box; complete	г.	45.00	*= *= l	***	A= ~~	**- **
	5025	as specified	Each	17.00	\$5.05	\$85.85	\$5.00	\$85.00

Contract 25-07 - West 15th	Avenue Reconstru	action (#9359431)						
Owner: Oshkosh WI, City	-							
Solicitor: Oshkosh WI, Cit				 				
Solicitor. Oshikosh 111, Cit	y 01							
Bid Opening: 11/04/2024 1	1:00 AM CST							
ы оренна. 11/01/2021 1	1.00 11.01 C.5 1							
					Carl Bowers & Sor	as Const Co. Ins	PTS Contra	store Inc
						•	115 COIIII	ictors, mc
					N1844 Male	•		
o d mid		7. 75 1.1	** **	0 111	Kaukauna,		** !: P !	- · ·
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Install CITY-supplied						
		lighting control cabinet;						
	5051	complete as specified	Each	1.00	\$2,020.00	\$2,020.00	\$2,035.00	\$2,035.00
		Install electrical service;						
	5054	complete as specified	Each	1.00	\$2,272.50	\$2,272.50	\$2,290.00	\$2,290.00
		Furnish and install 3"						
		Schedule 40 PVC;						
	5130	complete as specified	Linear Feet	3,000.00	\$14.14	\$42,420.00	\$14.25	\$42,750.00
		Furnish and install 6						
		gauge red-coated wire;						
	5240	complete as specified	Linear Feet	3,855.00	\$2.28	\$8,789.40	\$2.30	\$8,866.50
		Furnish and install 6						
		gauge black-coated wire;						
	5241	complete as specified	Linear Feet	3,855.00	\$2.28	\$8,789.40	\$2.30	\$8,866.50
		Furnish and install 10						
		gauge red-coated wire;						
	5260	complete as specified	Linear Feet	90.00	\$2.28	\$205.20	\$2.30	\$207.00
		Furnish and install 10						
		gauge black-coated wire;						
	5261	complete as specified	Linear Feet	90.00	\$2.28	\$205.20	\$2.30	\$207.00
		Furnish and install 10						
		gauge green-coated wire;						
	5262	complete as specified	Linear Feet	3,300.00	\$1.52	\$5,016.00	\$1.50	\$4,950.00
		Furnish and install 12						
		gauge red-coated wire;						
	5270	complete as specified	Linear Feet	700.00	\$0.81	\$567.00	\$0.80	\$560.00
		Furnish and install 12						
		gauge black-coated wire;						
	5271	complete as specified	Linear Feet	700.00	\$0.81	\$567.00	\$0.80	\$560.00
		Furnish and install 12						
		gauge green-coated wire;						
	5272	complete as specified	Linear Feet	700.00	\$0.81	\$567.00	\$0.80	\$560.00
		Furnish and install fuse						
		holder; complete as						
	5380	specified	Each	36.00	\$55.55	\$1,999.80	\$56.00	\$2,016.00
		Furnish and install 2A						
		fuse; complete as						
	5386	specified	Each	36.00	\$5.05	\$181.80	\$5.00	\$180.00
<u> </u>		Install CITY-supplied 10'						<u> </u>
		truss-type luminaire arm;						
	5454	complete as specified	Each	18.00	\$353.50	\$6,363.00	\$356.00	\$6,408.00

Contract 25-07 - West 15th	Avenue Reconstru	ction (#9359431)						
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	y of							
Bid Opening: 11/04/2024 1	1:00 AM CST							
					Carl Bowers & Son	·	PTS Contr	actors, Inc
					N1844 Malo	•		
					Kaukauna,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Install CITY-supplied						
		cobra head luminaire;						
	5460	complete as specified	Each	18.00	\$202.00	\$3,636.00	\$203.00	\$3,654.00
		Install CITY-supplied 20'						
		tapered pole with						
		transformer base;						
	5494	complete as specified	Each	18.00	\$757.50	\$13,635.00	\$763.00	\$13,734.00
		Furnish and install Type 5						
		base; complete as						
	5504	specified	Each	18.00	\$1,085.75	\$19,543.50	\$1,095.00	\$19,710.00
		Furnish and install Type 9						
		base; complete as						
	5506	specified	Each	1.00	\$2,020.00	\$2,020.00	\$2,035.00	\$2,035.00
Bid Total:						\$5,009,935.27		\$5,039,000.00

Contract 25-07 - West 15th Av	venue Reconstru	action (#9359431)						
Owner: Oshkosh WI, City of		, , , , , ,		1				
Solicitor: Oshkosh WI, City o				 				
				 				
Bid Opening: 11/04/2024 11:0	00 AM CST			+				
	1							
				+	Advance Const	truction Inc.	Dorne	r Inc.
					Travance Const.	ruction inc.	Bones	· IIIC
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1						\$5,242,325.68		\$5,334,631.27
		Clearing; complete as						
	1011	specified	Inch Diameter	340.00	\$20.00	\$6,800.00	\$20.60	\$7,004.00
		Grubbing; complete as						
	1021	specified	Inch Diameter	368.00	\$20.00	\$7,360.00	\$10.30	\$3,790.40
		Mobilization; complete as						
	1050	specified	Lump Sum	1.00	\$201,200.00	\$201,200.00	\$175,760.00	\$175,760.00
		Removing pavement;						
	1100	complete as specified	Square Yards	1,540.00	\$7.00	\$10,780.00	\$6.30	\$9,702.00
		Removing curb and						
		gutter; complete as						
	1110	specified	Linear Feet	4,975.00	\$4.00	\$19,900.00	\$1.80	\$8,955.00
		Removing concrete and						
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	44,475.00	\$0.60	\$26,685.00	\$0.50	\$22,237.50
		Unclassified excavation;						
	1200	complete as specified	Cubic Yards	4,985.00	\$9.50	\$47,357.50	\$15.50	\$77,267.50
		Excavation special						
		(paving); complete as						
	1220	specified	Tons	748.00	\$10.50	\$7,854.00	\$15.00	\$11,220.00
		7" concrete pavement;						
		with 5" CABC and						
		grading; complete as						
	1301	specified 7" concrete pavement	Square Yards	9,500.00	\$52.21	\$495,995.00	\$52.95	\$503,025.00
		-						
		HES; with 5" CABC and						
	1202	grading; complete as	C 1 -	1 245 00	¢57. 21	#CO 001 4F	¢=7.0=	¢71.007.0F
	1303	specified	Square Yards	1,245.00	\$56.21	\$69,981.45	\$57.05	\$71,027.25
	1224	Concrete pavement gaps;	T. J.	2.00	¢1 000 00	#2 000 00	#1 020 2 0	#2.000.40
	1334	complete as specified Crushed aggregate base	Each	2.00	\$1,000.00	\$2,000.00	\$1,030.20	\$2,060.40
				1				
	1240	course; complete as specified	Tomo	1 405 00	¢0.50	¢14 202 50	¢10.00	¢14.050.00
	1340	Pavement ties; complete	Tons	1,495.00	\$9.50	\$14,202.50	\$10.00	\$14,950.00
	1250	•	Eash	E 00	¢10.00	¢=0.00	¢10.00	ØE0.00
	1350	as specified Drilled dowel bars; 1";	Each	5.00	\$10.00	\$50.00	\$10.00	\$50.00
	1252		Each	106.00	\$15.00	\$1,590.00	\$15.00	\$1,590.00
	1352	complete as specified Drilled dowel bars; 1 1/4";	Eacn	106.00	\$15.00	\$1,390.00	Φ15.00	\$1,390.00
	1354	complete as specified	Each	28.00	\$17.00	\$476.00	\$18.00	\$504.00

Contract 25-07 - West 15th A	venue Reconstri	action (#9359431)						
Owner: Oshkosh WI, City o		(11011 (111005) 101)		+				
Solicitor: Oshkosh WI, City				+				
Solicitor. Oshkosh Wi, City	01							
Bid Opening: 11/04/2024 11:	00 AM CST			 				
3 T 3				†				
				1	Advance Cons	struction Inc.	Dorne	r Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem code	Adjust manholes and	COIN	Quantity	Chit i ite	Extension	Olit Frice	Extension
		inlets; complete as						
	1360	specified	Each	69.00	\$400.00	\$27,600.00	\$412.00	\$28,428.00
		Turf restoration;			,	, ,	,	, ,
	1370	complete as specified	Square Yards	5,990.00	\$6.65	\$39,833.50	\$8.50	\$50,915.00
		Restore gravel				·		·
		driveway/apron;						
	1372	complete as specified	Square Yards	109.00	\$5.00	\$545.00	\$5.60	\$610.40
		Cold weather covering						
		(concrete pavement) -						
		single visquine; complete						
	1380	as specified	Square Yards	1,608.00	\$0.01	\$16.08	\$0.01	\$16.08
		Up-charge for late season						
		cold weather concrete						
		pavement; complete as						
	1390	specified	Cubic Yards	312.00	\$0.01	\$3.12	\$0.01	\$3.12
		12" radius curb with 6"						
		CABC and grading;						
	1410	complete as specified 30" curb and gutter; 7";	Linear Feet	440.00	\$17.40	\$7,656.00	\$17.10	\$7,524.00
		with 5" CABC and						
	1440	grading; complete as specified	Linear Feet	82.00	\$50.40	\$4,132.80	\$52.30	#4. 2 00.60
	1440	Sidewalk curb; complete	Linear reet	82.00	\$50.40	\$4,132.00	\$32.30	\$4,288.60
	1460	as specified	Linear Feet	476.00	\$46.00	\$21,896.00	\$46.40	\$22,086.40
	1400	4" concrete sidewalk with	Effical Feet	470.00	ψ±0.00	Ψ21,090.00	ψ10.10	Ψ22,000.40
		3" CABC and grading;						
	1500	complete as specified	Square Feet	20,900.00	\$6.65	\$138,985.00	\$6.75	\$141,075.00
		6" concrete sidewalk/	- 4	=0,7 00100	4****	4-2-0/	44	4,0.000
		driveway/ramp with 3"						
		CABC and grading;						
	1510	complete as specified	Square Feet	17,850.00	\$7.75	\$138,337.50	\$7.95	\$141,907.50
		6" concrete sidewalk/	•			·		·
		driveway/ramp (HES)						
		with 3" CABC and						
		grading; complete as						
	1514	specified	Square Feet	2,975.00	\$8.10	\$24,097.50	\$8.25	\$24,543.75
	4500	6" concrete step; complete		1 200 00	APR 22	40= 407.00	des co	****
	1530	as specified	Square Feet	1,308.00	\$73.00	\$95,484.00	\$70.10	\$91,690.80

Contract 25-07 - West 15th A	venue Reconstru	iction (#9359431)						
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
Solicitor: Oshkosh 111, City								
Bid Opening: 11/04/2024 11:	-00 AM CST							
Did Opening. 11/04/2024 11.	July CD1			+				
					Advance Con	atmention Inc	Dorne	ur Inc
					Advance Con	struction inc.	Dome	er inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Curb ramp detectable		~				
		warning field						
		(natural/non-painted);						
	1540	complete as specified	Square Feet	280.00	\$36.00	\$10,080.00	\$37.10	\$10,388.00
	1010	No. 4 reinforcing rods -	oquare reet	200.00	\$50.00	Ψ10/000100	φον.110	\$10,000.00
		deformed; epoxy-coated;						
	1550	complete as specified	Linear Feet	7,675.00	\$2.20	\$16,885.00	\$2.30	\$17,652.50
	1550	Drilled No. 4 sidewalk tie	Effical Teet	7,073.00	Ψ2,20	ψ10,005.00	ψ2.50	ψ17,002.30
		bars - deformed; epoxy-						
		coated; complete as						
	1560	specified	Each	485.00	\$4.00	\$1,940.00	\$4.10	\$1,988.50
	1300	Cold weather covering	Lacii	405.00	ψ4.00	ψ1,740.00	ψ4.10	ψ1,700.30
		(sidewalk) - single						
		visquine; complete as						
	1580	specified	Square Feet	6,452.00	\$0.01	\$64.52	\$0.01	\$64.52
	1300	Cold weather covering	Square reet	0,432.00	ψ0.01	ψ04.02	φ0.01	ψ01.52
		(sidewalk) - double						
		visquine; complete as						
	1582	specified	Square Feet	6,450.00	\$0.01	\$64.50	\$0.01	\$64.50
	1302	Up-charge for late season	Square reet	0,430.00	\$0.01	\$04.50	ψ0.01	ψ04.30
		cold weather concrete						
		sidewalk; complete as						
	1590	specified	Cubic Yards	2,870.00	\$0.01	\$28.70	\$0.01	\$28.70
	1390	Furnish and install tree;	Cubic Tarus	2,870.00	φ0.01	\$20.70	φ0.01	Ψ20.70
	1600	complete as specified	Each	44.00	\$625.00	\$27,500.00	\$567.00	\$24,948.00
	1000	Locate existing property	Lacii	44.00	φ023.00	Ψ21,300.00	φοσ	ΨΣΨ,ΣΨΟ.ΟΟ
		monuments; complete as						
	1650	specified	Each	19.00	\$145.00	\$2,755.00	\$149.00	\$2,831.00
	1050	Replace existing property	Lucii	17.00	Ψ143.00	Ψ2,1 55.00	ψ1π2.00	Ψ2,001.00
		monuments; complete as						
	1652	specified	Each	19.00	\$10.00	\$190.00	\$10.00	\$190.00
	1002	Sawing existing	Lucii	17.00	ψ10.00	ψ170.00	ψ10.00	ψ1/0.00
		pavement; complete as						
	1700	specified	Linear Feet	1,376.00	\$2.50	\$3,440.00	\$2.00	\$2,752.00
	1700	Sawing concrete	Linear rect	1,57 0.00	\$2.50	ψυ,440.00	φ2.00	Ψ2,732.00
		pavement full depth;						
	1710	complete as specified	Linear Feet	172.00	\$3.00	\$516.00	\$4.70	\$808.40
	1/10	Tack coat; complete as	Emical I CCt	172.00	ψ3.00	ψ010.00	ψ±.70	ψ000.40
	1900	specified	Gallons	59.00	\$7.40	\$436.60	\$7.60	\$448.40
	1700	эрссинси	Ganons	39.00	φ7.40	φ 4 30.60	φ7.60	φ 44 0.40

Contract 25-07 - West 15th Av	enue Reconstru	iction (#9359431)						
Owner: Oshkosh WI, City of		, , , , , , ,						
Solicitor: Oshkosh WI, City o								
Solicitor. Oshkosh vvi, City C								
Bid Opening: 11/04/2024 11:0	0 AM CST							
Did Opening. 11/04/2024 11.0	Tivi Co i							
					Advance Con	atuu ati an Tara	Dorne	T
					Advance Cons	struction inc.	Dome	er inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	item code	4" asphaltic transition LT	COLIVI	Qualitity	Official	Extension	Out Tite	Extension
		with 10" CABC and						
		grading; complete as						
	1911	specified	Square Yards	655.00	\$44.10	\$28,885.50	\$43.60	\$28,558.00
	1711	4" asphaltic surface LT	Square rarus	055.00	φ 11 .10	\$20,000.00	\$45.00	\$20,330.00
		with 6" CABC and						
		grading; complete as						
	1916	specified	Square Yards	184.00	\$55.15	\$10,147.60	\$55.70	\$10,248.80
	1710	Asphaltic cold weather	Square rarus	104.00	φ33.13	\$10,147.00	\$55.70	\$10,240.00
		paving up-charge;						
	1918	complete as specified	Square Yards	126.00	\$0.01	\$1.26	\$1.40	\$176.40
	1710	Furnish and install 12"	Square rarus	120.00	ψ0.01	ψ1.20	ψ1.40	ψ17 O. 1 O
		storm sewer; complete as						
	2003	specified	Linear Feet	430.00	\$92.00	\$39,560.00	\$71.00	\$30,530.00
	2000	Furnish and install 15"	Efficul Teet	100.00	Ψ>2.00	ψ59,300.00	ψ, 1.00	φοσ,οσο.σο
		storm sewer; complete as						
	2006	specified	Linear Feet	25.00	\$115.00	\$2,875.00	\$91.00	\$2,275.00
	2000	Furnish and install 18"	Zinear rect	20.00	\$110.00	Ψ2/07 0.000	ψ>1.00	\$2 , 270.00
		storm sewer; complete as						
	2009	specified	Linear Feet	150.00	\$108.00	\$16,200.00	\$96.00	\$14,400.00
	2007	Furnish and install 21"	Zinear rect	100.00	\$100.00	\$10 <u>/</u> 200100	Ψ>0.00	ψ11/100.00
		storm sewer; complete as						
	2012	specified	Linear Feet	50.00	\$131.00	\$6,550.00	\$118.00	\$5,900.00
		Furnish and install 24"			4-0-100	40/20000	4-2000	40,10000
		storm sewer; complete as						
	2015	specified	Linear Feet	40.00	\$143.00	\$5,720.00	\$163.00	\$6,520.00
		Furnish and install 30"		20100	4	40). =0100	4-00100	40/0=000
		storm sewer; complete as						
	2021	specified	Linear Feet	275.00	\$137.00	\$37,675.00	\$135.00	\$37,125.00
		Furnish and install 36"			, - 100	1. /. /	, - , - , - , - , - , - , - , - , - , -	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		storm sewer; complete as						
	2024	specified	Linear Feet	425.00	\$161.00	\$68,425.00	\$164.00	\$69,700.00
		Furnish and install 48"				. ,		. ,
		storm sewer; complete as						
	2030	specified	Linear Feet	275.00	\$220.00	\$60,500.00	\$264.00	\$72,600.00
		Furnish and install 54"			,	, ,	,	, ,
		storm sewer; complete as						
	2033	specified	Linear Feet	1,000.00	\$343.00	\$343,000.00	\$401.00	\$401,000.00

Contract 25-07 - West 15th	Avenue Reconstru	action (#9359431)						
Owner: Oshkosh WI, City		, , , , , ,		1				
Solicitor: Oshkosh WI, City				+				
	1			+				
Bid Opening: 11/04/2024 11	1:00 AM CST							
Dia opening. 11/01/2021 1	10011111 001			+				
				+	Advance Cons	struction Inc	Dorner	·Inc
				+	Advance Cons	struction inc.	Donie	mc.
				+				
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	item code	Furnish and install 24" x	COINI	Qualitity	Omt i nee	Extension	Oint Title	Extension
		38" HERCP Class III						
		storm sewer; complete as						
	2049	specified	Limona Foot	30.00	\$218.00	\$6,540.00	\$186.00	\$5,580.00
	2049	Furnish and install 38" x	Linear Feet	30.00	\$210.00	\$6,340.00	\$186.00	\$5,560.00
		60" HERCP Class III						
		storm sewer; complete as						
	2055	specified	I to a sur Free!	(7F 00	#20F 00	¢102.275.00	¢212.00	#210 C00 00
	2055	Furnish and install	Linear Feet	675.00	\$285.00	\$192,375.00	\$312.00	\$210,600.00
		standard storm sewer						
		manhole (4' diameter);						
	2201	' '	Vertical Feet	18.00	\$880.00	\$15,840.00	\$882.00	¢1E 976 00
	2201	complete as specified Furnish and install	verticai reet	16.00	\$000.00	\$13,640.00	\$662.00	\$15,876.00
		standard storm sewer						
		manhole (5' diameter);						
	2202		Mantial Fact	20.00	#1 04F 00	#20.20F.00	¢1 126 00	¢22.044.00
	2202	complete as specified Furnish and install	Vertical Feet	29.00	\$1,045.00	\$30,305.00	\$1,136.00	\$32,944.00
		standard storm sewer						
		manhole (6' diameter);						
	2202	· · · · · · · · · · · · · · · · · · ·	Mantial Fast	F 75	¢1.250.00	ф7 7/2 FO	£1 504 00	¢0.740.00
	2203	complete as specified Furnish and install	Vertical Feet	5.75	\$1,350.00	\$7,762.50	\$1,504.00	\$8,648.00
		standard storm sewer						
	2205	manhole (8' diameter);	Mantial Fact	F2 2F	#2 000 00	#106.0 2 6.00	#2 200 00	¢117 F77 00
	2205	complete as specified Furnish and install	Vertical Feet	53.25	\$2,008.00	\$106,926.00	\$2,208.00	\$117,576.00
		standard storm sewer						
		inlet manhole (4'						
		diameter); complete as						
	2212	specified	Vertical Feet	4.05	#1 01 C 00	#4.218.00	\$1,073.00	¢4 E(0.2E
	2213	Furnish and install Type 1	vertical reet	4.25	\$1,016.00	\$4,318.00	\$1,073.00	\$4,560.25
	2225	inlet (with 18" sump);	T1.	1.00	¢4.576.00	¢4.576.00	#2.692.00	#2 C02 00
	2235	complete as specified Furnish and install Type 3	Each	1.00	\$4,576.00	\$4,576.00	\$3,683.00	\$3,683.00
	2227	inlet (with 18" sump);	Earle	20.00	¢2 0// 00	¢146,000,00	¢2.40F.00	¢120 200 00
	2237	complete as specified Furnish and install 6"	Each	38.00	\$3,866.00	\$146,908.00	\$3,405.00	\$129,390.00
		storm sewer lateral;						
	2400	· ·	I in East	2 (00 00	#c0.00	#1FC 000 00	# < 2 OO	#1/1 2 00 00
	2400	complete as specified	Linear Feet	2,600.00	\$60.00	\$156,000.00	\$62.00	\$161,200.00
		Furnish and install 8"						
	2402	storm sewer lateral;				40.0=0.00	***	****
	2402	complete as specified	Linear Feet	50.00	\$61.00	\$3,050.00	\$64.00	\$3,200.00

Contract 25-07 - West 15th	Avenue Reconstru	action (#9359431)						
Owner: Oshkosh WI, City	-	, , , , , ,						
Solicitor: Oshkosh WI, City								
	, 							
Bid Opening: 11/04/2024 11	1:00 AM CST							
					Advance Construction Inc.		Dorne	r Inc
				+	Advance Cons	struction inc.	Donie	i iic.
				+				
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section True	nem coue	Furnish and install storm	001111	Quantity	OIII THE	Extension	ChitTite	Extension
		sewer marker balls;						
	2404	complete as specified	Each	160.00	\$30.00	\$4,800.00	\$30.00	\$4,800.00
	2101	Furnish and install storm	Lucii	100.00	ψ50.00	ψ1,000.00	φ50.00	ψ1,000.00
		sewer clay dams;						
	2406	complete as specified	Each	80.00	\$200.00	\$16,000.00	\$126.00	\$10,080.00
	2100	Furnish and install storm	zacr	00.00	\$200.00	\$10,000.00	\$120.00	ψ10/000.00
		sewer lateral inlet;						
	2408	complete as specified	Each	75.00	\$888.00	\$66,600.00	\$1,229.00	\$92,175.00
	2100	Storm lateral inlet	zacr	70.00	\$000.00	φοσ/σσσ.σσ	ψ1/227.00	ψ,2/1,0.00
		adjustments; complete as						
	2414	specified	Each	75.00	\$50.00	\$3,750.00	\$126.00	\$9,450.00
	2111	Furnish; install; maintain;	Lucii	75.00	ψ50.00	ψο,7 σσ.σσ	ψ120.00	ψ>,100.00
		and remove Type D						
		modified inlet protection;						
	2508	complete as specified	Each	70.00	\$77.00	\$5,390.00	\$103.00	\$7,210.00
		Sediment removal - Type			411100	40,010100	420000	4.7=
		D modified inlet						
		protection; complete as						
	2510	specified	Each	70.00	\$25.00	\$1,750.00	\$10.00	\$700.00
		Furnish; install; maintain;			,	, ,	,	,
		and remove stone						
		tracking pad; complete as						
	2512	specified	Each	2.00	\$1,200.00	\$2,400.00	\$515.00	\$1,030.00
	-	Furnish; install; maintain;			. ,	, , . , . ,	,	. ,
		and remove stone bag;						
	2516	complete as specified	Each	60.00	\$11.00	\$660.00	\$12.00	\$720.00
		Furnish; install; maintain;						
		and remove 12" diameter						
		sediment logs; complete						
	2518	as specified	Linear Feet	100.00	\$7.00	\$700.00	\$15.00	\$1,500.00
		Furnish; install; maintain;						·
		and remove dewatering						
		tank system; complete as						
	2524	specified	Each	2.00	\$2,000.00	\$4,000.00	\$3,606.00	\$7,212.00
		Abandon 8" - 12" storm						
		sewer; complete as						
	2800	specified	Linear Feet	375.00	\$9.00	\$3,375.00	\$8.00	\$3,000.00
		Abandon 15" and larger						
		storm sewer; complete as						
	2802	specified	Linear Feet	525.00	\$15.00	\$7,875.00	\$18.00	\$9,450.00

Contract 25-07 - West 15th A	venue Reconstri	iction (#9359431)						
Owner: Oshkosh WI, City o		(17007101)						
Solicitor: Oshkosh WI, City								
Solicitor. Oshkosh vvi, City	1							
Bid Opening: 11/04/2024 11:	00 AM CST							
Did Opening. 11/04/2024 11.	OU MINI COT							
				+	Advance Con	struction Inc	Dorne	r Inc
					Auvance Con	struction mc.	Donie	i iiic.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem code	Remove 30" and smaller	001111	Quantity	ChitTitee	Extension	Omerice	Extension
		storm sewer; complete as						
	2804	specified	Linear Feet	500.00	\$45.00	\$22,500.00	\$30.00	\$15,000.00
	2004	Abandon storm sewer	Effical Teet	300.00	ψ±5.00	Ψ22,300.00	φ50.00	ψ13,000.00
		manholes and inlets;						
	2810	complete as specified	Each	15.00	\$400.00	\$6,000.00	\$505.00	\$7,575.00
	2010	Remove storm sewer	Lucii	10.00	ψ100.00	φο,οσο.οσ	фосолос	ψ1,010.00
		manholes and inlets;						
	2812	complete as specified	Each	15.00	\$580.00	\$8,700.00	\$705.00	\$10,575.00
	2012	Connect to existing storm	Zuerr	10.00	φοσοίου	φομ σοισσ	φ, σσ.σσ	Ψ10,070.00
		sewer main; complete as						
	2850	specified	Each	10.00	\$750.00	\$7,500.00	\$2,228.00	\$22,280.00
	2000	Connect to existing storm	Zuerr	10.00	ψ, σσ.σσ	ψ. /2.00.00	ψ2)220.00	\$22)200.00
		sewer lateral; complete as						
	2852	specified	Each	5.00	\$180.00	\$900.00	\$361.00	\$1,805.00
		Connect to existing storm			,	4	,	, ,
		sewer manhole; complete						
	2856	as specified	Each	1.00	\$1,000.00	\$1,000.00	\$1,992.00	\$1,992.00
		Connect to existing storm			. ,		• /	. , , , , , , , , , , , , , , , , , , ,
		sewer inlet; complete as						
	2858	specified	Each	3.00	\$600.00	\$1,800.00	\$1,078.00	\$3,234.00
		Storm sewer utility line						·
		opening (ULO); complete						
	2914	as specified	Each	5.00	\$750.00	\$3,750.00	\$1,398.00	\$6,990.00
		Excavation special						
		(storm); complete as						
	2950	specified	Tons	150.00	\$10.50	\$1,575.00	\$18.00	\$2,700.00
		Furnish and install 8"						
		sanitary sewer (relay);						
	3000	complete as specified	Linear Feet	2,570.00	\$154.00	\$395,780.00	\$149.00	\$382,930.00
		Furnish and install 10"						
		sanitary sewer (relay);						
	3002	complete as specified	Linear Feet	40.00	\$225.00	\$9,000.00	\$182.00	\$7,280.00
		Furnish and install 12"						
		sanitary sewer (relay);						
	3004	complete as specified	Linear Feet	8.00	\$225.00	\$1,800.00	\$151.00	\$1,208.00
		Furnish and install 15"						
		sanitary sewer (relay);						
	3006	complete as specified	Linear Feet	15.00	\$450.00	\$6,750.00	\$197.00	\$2,955.00

Contract 25-07 - West 15th A	venue Reconstru	action (#9359431)						
Owner: Oshkosh WI, City o		, , , , , , ,		1				
Solicitor: Oshkosh WI, City								
	1			1				
Bid Opening: 11/04/2024 11:	:00 AM CST							
214 Opening, 11/01/202111	111111111111111111111111111111111111111							
					Advance Cons	struction Inc	Dorne	r Inc
					Auvance Cons	struction inc.	Donie	i iiic.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install		244.49				
		standard sanitary sewer						
		manhole (4' diameter);						
	3100	complete as specified	Vertical Feet	95.00	\$548.00	\$52,060.00	\$746.00	\$70,870.00
		Furnish and install			,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,	, .,.
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	10.00	\$550.00	\$5,500.00	\$567.00	\$5,670.00
		Furnish and install			,	4-7	,	4-7-
		sanitary sewer external						
		manhole chimney seal						
		extension; complete as						
	3116	specified	Each	2.00	\$500.00	\$1,000.00	\$515.00	\$1,030.00
		Furnish and install 8" x 6"						
		sanitary sewer factory						
		wyes or tees; complete as						
	3210	specified	Each	91.00	\$150.00	\$13,650.00	\$335.00	\$30,485.00
		Furnish and install 6"						
		sanitary sewer laterals						
		(new); complete as						
	3232	specified	Linear Feet	44.00	\$133.00	\$5,852.00	\$116.00	\$5,104.00
		Furnish and install 4"/6"						
		sanitary sewer lateral						
		(relay); complete as						
	3234	specified	Linear Feet	3,200.00	\$133.00	\$425,600.00	\$116.00	\$371,200.00
		Furnish and install 4"/6"						
		sanitary sewer riser						
		(relay); complete as						
	3235	specified	Linear Feet	100.00	\$133.00	\$13,300.00	\$138.00	\$13,800.00
		Furnish and install						
		sanitary sewer lateral						
		marker balls; complete as						
	3236	specified	Each	182.00	\$30.00	\$5,460.00	\$30.00	\$5,460.00
	1	Furnish and install clay						
		dams; complete as						
	3238	specified	Each	91.00	\$250.00	\$22,750.00	\$126.00	\$11,466.00
	1	Furnish and install						
		connection to existing 8"						
		sanitary sewer mains;						
	3300	complete as specified	Each	1.00	\$3,000.00	\$3,000.00	\$2,658.00	\$2,658.00

Contract 25-07 - West 15th	Avenue Reconstru	iction (#9359431)						
Owner: Oshkosh WI, City	of							
olicitor: Oshkosh WI, Cit								
· · ·								
id Opening: 11/04/2024 1	1:00 AM CST							
					Advance Con	struction Inc	Dorne	r Inc
					Travance Con	struction inc.	Donk	1 1110.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install						
		connection to existing 10"						
		sanitary sewer mains;						
	3302	complete as specified	Each	1.00	\$400.00	\$400.00	\$2,540.00	\$2,540.0
		Furnish and install					·	·
		connection to existing 12"						
		sanitary sewer mains;						
	3304	complete as specified	Each	1.00	\$400.00	\$400.00	\$2,527.00	\$2,527.0
		Furnish and install			4	4	4-/	4=/+=:
		connection to existing 15"						
		sanitary sewer mains;						
	3306	complete as specified	Each	2.00	\$1,250.00	\$2,500.00	\$2,864.00	\$5,728.0
	5500	Furnish and install	- Lucii	2.00	\$1,200.00	\$ 2 ,500.00	\$2,001.00	ψο,, 2ο.,
		sanitary sewer concrete						
		collars; complete as						
	3330	specified	Each	1.00	\$500.00	\$500.00	\$591.00	\$591.0
	3330	Furnish and install 10"	Each	1.00	\$300.00	\$300.00	\$391.00	\$371.0
		sanitary sewer open cut						
		casing pipes; complete as						
	3404	specified	Lincon Foot	425.00	\$146.00	\$62,050.00	\$218.00	\$92,650.0
	3404	Furnish and install 18"	Linear Feet	423.00	\$140.00	\$62,030.00	\$218.00	\$92,030.0
		sanitary sewer open cut						
	2410	casing pipes; complete as	LinnerFeet	20.00	#200.00	#4 000 00	¢272.00	¢Ε 440.4
	3410	specified Furnish and install 20"	Linear Feet	20.00	\$200.00	\$4,000.00	\$272.00	\$5,440.
		sanitary sewer open cut						
	2411	casing pipes; complete as	T. T.	12.00	# 22 0.00	#2 (40.00	#272.00	do 077
	3411	specified	Linear Feet	12.00	\$220.00	\$2,640.00	\$273.00	\$3,276.0
	2600	Rock excavation;	6 1: V 1	100.00	#O 01	41.00	#O 01	#1
	3600	complete as specified	Cubic Yards	100.00	\$0.01	\$1.00	\$0.01	\$1.0
	2500	Closed circuit televising;		2 (22 00	04.05	40.554.55	44.70	A. 184
	3700	complete as specified	Linear Feet	2,633.00	\$1.35	\$3,554.55	\$1.70	\$4,476.1
		Closed circuit televising -						
		using push camera;][***	
	3710	complete as specified	Each	4.00	\$300.00	\$1,200.00	\$253.00	\$1,012.0
		Abandon sanitary sewer						
		manholes; complete as	_					
	3800	specified	Each	2.00	\$500.00	\$1,000.00	\$634.00	\$1,268.0
		Abandon 20" sanitary						
		sewer; complete as						
	3811	specified	Linear Feet	328.00	\$30.00	\$9,840.00	\$24.00	\$7,872.0

Contract 25-07 - West 15th A	Avenue Reconstru	iction (#9359431)			T			
Owner: Oshkosh WI, City o		(,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,						
Solicitor: Oshkosh WI, City								
sometion controls 111, city								
Bid Opening: 11/04/2024 11	:00 AM CST			+				
214 Opening, 11/01/202111								
				+	Advance Cons	truction Inc	Dorne	r Inc
				+	Advance cons	draction inc.	Donie	i iic.
				+				
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem coue	Abandon 18" x 26"	COLIVI	Quantity	ChitTite	Extension	ChitTite	Extension
		sanitary sewer; complete						
	3815	as specified	Linear Feet	471.00	\$35.00	\$16,485.00	\$27.00	\$12,717.00
	5615	Remove sanitary sewer	Efficial Feet	17 1.00	φοσ.σσ	Ψ10/100.00	Ψ27.00	ψ12/7 17 10 C
		manholes; complete as						
	3852	specified	Each	2.00	\$500.00	\$1,000.00	\$870.00	\$1,740.00
	0002	Remove sanitary sewer;	Zueri	2.00	4000.00	\$1,000.00	40,0.00	ψ1/10.00
	3854	complete as specified	Linear Feet	211.00	\$48.00	\$10,128.00	\$54.00	\$11,394.00
		Sanitary sewer utility line			4 - 2 - 1 - 2	4-0/	44 -144	4/
		opening (ULO); complete						
	3890	as specified	Each	4.00	\$750.00	\$3,000.00	\$2,290.00	\$9,160.00
		Excavation special			4.0000	40,000.00	4=,=,	47/
		(sanitary); complete as						
	3892	specified	Tons	40.00	\$10.50	\$420.00	\$18.00	\$720.00
		Furnish and install 6"			,	,	,	
		ductile iron water main						
		(relay) with polywrap;						
	4002	complete as specified	Linear Feet	230.00	\$123.00	\$28,290.00	\$126.00	\$28,980.00
		Furnish and install 8"						
		ductile iron water main						
		(relay) with polywrap;						
	4004	complete as specified	Linear Feet	2,690.00	\$148.00	\$398,120.00	\$144.00	\$387,360.00
		Furnish and install 12"						
		ductile iron water main						
		(relay) with polywrap;						
	4008	complete as specified	Linear Feet	155.00	\$200.00	\$31,000.00	\$197.00	\$30,535.00
		Furnish and install 1"						
		water service (relay);						
	4036	complete as specified	Linear Feet	2,900.00	\$105.00	\$304,500.00	\$84.00	\$243,600.00
		Furnish and install 1-1/4"						
		water service (relay);						
	4037	complete as specified	Linear Feet	30.00	\$105.00	\$3,150.00	\$95.00	\$2,850.00
		Furnish and install 1"						
		water service (new);						
	4042	complete as specified	Linear Feet	43.00	\$105.00	\$4,515.00	\$84.00	\$3,612.00
	1	Furnish and install 1"						
	1	corporation and stop box;						
	4048	complete as specified	Each	84.00	\$834.00	\$70,056.00	\$586.00	\$49,224.00
	1	Furnish and install 1-1/4"						
	1	corporation and stop box;						
	4050	complete as specified	Each	1.00	\$1,300.00	\$1,300.00	\$1,082.00	\$1,082.00

Contract 25-07 - West 15th A	venue Reconstru	iction (#9359431)						
Owner: Oshkosh WI, City o		("3553151)						
Solicitor: Oshkosh WI, City								
Solicitor. Oshkosh vvi, City	UI .							
Bid Opening: 11/04/2024 11	.00 AM CST							
bid Opening. 11/04/2024 11	.00 AM C31							
					Advance Const	tuur ati'aan Tara	Dorner	. Top a
					Advance Const	truction inc.	Dorner	r Inc.
Section Title	Itam Cada	Itam Description	UofM	Orrantitus	Unit Price	Extension	Unit Price	Extension
Section Title	Item Code	Item Description Furnish and install water	COLIVI	Quantity	Unit Frice	Extension	Onit Frice	Extension
	4055	service clay dams;	г. 1	05.00	#1F0.00	#12 FE0 00	#100.00	#1F 000 00
	4055	complete as specified Furnish and install	Each	85.00	\$150.00	\$12,750.00	\$188.00	\$15,980.00
		connections to existing 6"						
	4050	water main; complete as	. .	4.00	42 200 00	40.200.00	42 00 (00	44.624.00
	4058	specified	Each	4.00	\$2,300.00	\$9,200.00	\$2,906.00	\$11,624.00
		Furnish and install						
		connections to existing 8"						
		water main; complete as						
	4060	specified	Each	1.00	\$2,888.00	\$2,888.00	\$3,487.00	\$3,487.00
		Furnish and install						
		connections to existing						
		12" water main; complete						
	4064	as specified	Each	2.00	\$3,760.00	\$7,520.00	\$4,426.00	\$8,852.00
		Furnish and install 6" x 6"						
		water main tee; complete						
	4101	as specified	Each	1.00	\$525.00	\$525.00	\$692.00	\$692.00
		Furnish and install 8" x 6"						
		water main tee; complete						
	4110	as specified	Each	7.00	\$700.00	\$4,900.00	\$918.00	\$6,426.00
		Furnish and install 8" x 8"						
		water main tee; complete						
	4111	as specified	Each	3.00	\$790.00	\$2,370.00	\$1,061.00	\$3,183.00
		Furnish and install 8" x						
		12" water main cross;						
	4191	complete as specified	Each	1.00	\$1,385.00	\$1,385.00	\$1,694.00	\$1,694.00
		Furnish and install 6" 45						
		degree water main bend;						
	4236	complete as specified	Each	16.00	\$340.00	\$5,440.00	\$463.00	\$7,408.00
		Furnish and install 8" 45						
		degree water main bend;						
	4237	complete as specified	Each	14.00	\$450.00	\$6,300.00	\$608.00	\$8,512.00
		Furnish and install 12" 45						
		degree water main bend;						
	4239	complete as specified	Each	8.00	\$970.00	\$7,760.00	\$1,209.00	\$9,672.00
		Furnish and install 8" x 6"						
		water main reducer;						
	4264	complete as specified	Each	3.00	\$390.00	\$1,170.00	\$544.00	\$1,632.00

Contract 25-07 - West 15th	Avenue Reconstru	iction (#9359431)						
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, City	v of							
Bid Opening: 11/04/2024 11	1:00 AM CST							
3								
					Advance Cons	struction Inc	Dorne	r Inc
					Auvance Con-	struction me.	Donic	i iiic.
			*** ***	0 "	** t. D. !	T		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Cut and cap existing 6"						
	1050	water main; complete as	г	2.00	# 2 2 00 00	#4.400.00	#1 (25.00	#2.2 <u>7</u> 0.00
	4352	specified Cut and cap existing 8"	Each	2.00	\$2,200.00	\$4,400.00	\$1,635.00	\$3,270.00
	40=4	water main; complete as		2 00	#2 = 00 00	45 000 00	44.045.00	#2 004 00
	4354	specified	Each	2.00	\$2,500.00	\$5,000.00	\$1,947.00	\$3,894.00
		Furnish and install 6"						
		water main gate valve;					** * * * * * * * * * * * * * * * * * * *	
	4401	complete as specified Furnish and install 8"	Each	10.00	\$1,870.00	\$18,700.00	\$2,145.00	\$21,450.00
		water main gate valve;						
	4402	complete as specified	Each	21.00	\$2,610.00	\$54,810.00	\$2,991.00	\$62,811.00
		Furnish and install 12"						
		water main gate valve;						
	4404	complete as specified	Each	2.00	\$4,630.00	\$9,260.00	\$5,197.00	\$10,394.00
		Furnish and install						
		hydrant; complete as						
	4500	specified	Each	7.00	\$5,780.00	\$40,460.00	\$6,759.00	\$47,313.00
		Furnish and install 2"						
		water main casing pipe;						
	4712	complete as specified	Linear Feet	425.00	\$70.00	\$29,750.00	\$108.00	\$45,900.00
		Furnish and install 18"						
		water main casing pipe;						
	4726	complete as specified	Linear Feet	20.00	\$200.00	\$4,000.00	\$267.00	\$5,340.00
		Rock excavation;						
	4800	complete as specified	Cubic Yards	50.00	\$0.01	\$0.50	\$0.01	\$0.50
		Abandon water main on						
		West 15th Avenue;						
	4900	complete as specified	Lump Sum	1.00	\$2,500.00	\$2,500.00	\$4,047.00	\$4,047.00
		Remove water main;						
	4920	complete as specified	Linear Feet	260.00	\$40.00	\$10,400.00	\$34.00	\$8,840.00
		Excavation special						
		(water); complete as						
	4990	specified	Tons	50.00	\$10.50	\$525.00	\$18.00	\$900.00
		Furnish and install pull						
		box (steel); 18" x 36";						
	5012	complete as specified	Each	17.00	\$1,250.00	\$21,250.00	\$1,288.00	\$21,896.00
		Adjust pull box; complete						<u> </u>
	5025	as specified	Each	17.00	\$5.00	\$85.00	\$5.00	\$85.00

Contract 25-07 - West 15th	Avenue Reconstru	action (#9359431)						
Owner: Oshkosh WI, City	of							
olicitor: Oshkosh WI, Cit								
id Opening: 11/04/2024 11	1:00 AM CST							
					Advance Cons	struction Inc.	Dorne	r Inc.
Section Title	Item Code	Itam Dagarintian	UofM	Ozrantitu	Unit Price	Extension	Unit Price	Extension
Section 11tte	item Code	Item Description Install CITY-supplied	COIM	Quantity	Unit Frice	Extension	Unit Ffice	Extension
	5051	lighting control cabinet;	г. і	1.00	# 2 000 00	#2 000 00	#2 040 00	#2.040.0
	5051	complete as specified	Each	1.00	\$2,000.00	\$2,000.00	\$2,060.00	\$2,060.0
	=0=4	Install electrical service;		4.00	42.250.00	# 2.25 0.00	42.240.00	42.240.0
	5054	complete as specified	Each	1.00	\$2,250.00	\$2,250.00	\$2,318.00	\$2,318.0
		Furnish and install 3"						
		Schedule 40 PVC;						
	5130	complete as specified	Linear Feet	3,000.00	\$14.00	\$42,000.00	\$14.40	\$43,200.0
		Furnish and install 6						
		gauge red-coated wire;						
	5240	complete as specified	Linear Feet	3,855.00	\$2.25	\$8,673.75	\$2.30	\$8,866.5
		Furnish and install 6						
		gauge black-coated wire;						
	5241	complete as specified	Linear Feet	3,855.00	\$2.25	\$8,673.75	\$2.30	\$8,866.5
		Furnish and install 10						
		gauge red-coated wire;						
	5260	complete as specified	Linear Feet	90.00	\$2.25	\$202.50	\$2.30	\$207.0
		Furnish and install 10						
		gauge black-coated wire;						
	5261	complete as specified	Linear Feet	90.00	\$2.25	\$202.50	\$2.30	\$207.0
		Furnish and install 10						
		gauge green-coated wire;						
	5262	complete as specified	Linear Feet	3,300.00	\$1.50	\$4,950.00	\$1.50	\$4,950.0
		Furnish and install 12						
		gauge red-coated wire;						
	5270	complete as specified	Linear Feet	700.00	\$0.80	\$560.00	\$0.80	\$560.0
		Furnish and install 12						
		gauge black-coated wire;						
	5271	complete as specified	Linear Feet	700.00	\$0.80	\$560.00	\$0.80	\$560.0
		Furnish and install 12						
		gauge green-coated wire;						
	5272	complete as specified	Linear Feet	700.00	\$0.80	\$560.00	\$0.80	\$560.0
		Furnish and install fuse						
		holder; complete as						
	5380	specified	Each	36.00	\$55.00	\$1,980.00	\$57.00	\$2,052.0
		Furnish and install 2A				·		·
		fuse; complete as						
	5386	specified	Each	36.00	\$5.00	\$180.00	\$5.00	\$180.0
		Install CITY-supplied 10'	-		,	,	1.100	,
		truss-type luminaire arm;						
	5454	complete as specified	Each	18.00	\$350.00	\$6,300.00	\$361.00	\$6,498.0

Contract 25-07 - West 15th	Avenue Reconstru	ction (#9359431)						
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, City	y of							
Bid Opening: 11/04/2024 11	1:00 AM CST							
					Advance Con	struction Inc.	Dorner Inc.	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Seemon Time	Tiem cone	Install CITY-supplied	001111	Quantity	Chief Thee	Extension		ZATERIOTOR
		cobra head luminaire;						
	5460	complete as specified	Each	18.00	\$200.00	\$3,600.00	\$206.00	\$3,708.00
		Install CITY-supplied 20'						
		tapered pole with						
		transformer base;						
	5494	complete as specified	Each	18.00	\$750.00	\$13,500.00	\$773.00	\$13,914.00
		Furnish and install Type 5						
		base; complete as						
	5504	specified	Each	18.00	\$1,075.00	\$19,350.00	\$1,107.00	\$19,926.00
		Furnish and install Type 9						
	==0.4	base; complete as			40.0000	40.000.00		40.000
D'1T (1	5506	specified	Each	1.00	\$2,000.00	\$2,000.00	\$2,060.00	\$2,060.00
Bid Total:						\$5,242,325.68		\$5,334,631.27

11/4/2024